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2. (1) FeB e rE s
= (19.998 + 20.002) + 2 = 20.000 m
(2) HMEH7E =20.002-19.998 = 0.004
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4. (1) IBUEE :

H, —Hg =101.234-100.000 =1.234 m
(2) BHHME : [b]-[f]=6.230-5.004 =1.226 m
(3) PAGZ = BHIE - 2 (d
=1.226-1.234 =-0.008 m

6. (1) MR B =R

-0.9 +0
+1.0 +0.5
@ Tk = —O.9+0+0.5+1.0><100><100

=1500 m® (21 &)
11. (1) (IE$% + 357 —180°) + 2
(2) BEf(180°0718''+0°07'08''-180°) + 2 = 0°0713"
(3) CEL23°22'41"
(4) ZBACE23°22'41"-0°07"13" = 23°15'28"

13. (1) TEE G = (90° — [F57 + #]5% — 270°) =+ 2
(2) o =(90°—88°32'54"+271°27'30''-270°) + 2
=1°2718"
14. S=ak + ¢ = (1.720—1.380) x100 + 0 = 34.000 m
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(2) FlEF AX BLAY B2 =R[E

(3) dapg =045 +180°=45°+180° = 225°
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20. (1) HIRHEYERS 2 55 B 75 BIRFS RS 2.2 mm
(2) HifE MBI EE R FHER 22 cm

(3) 22+220=0.01=—1
100

SE_E0MD : BF

21, FHARE 1 & S T A JE LU 5] 5 1 58S (] i B 2
1]

22, JAEER Ry Th ] F EL A T S o RRE S
F9~ & ~ B0 ~ IR ~ FHREREEIE S5

23, BOAE S e ] 3 AN 0B T

24, GIEIRERHAEE R 45 & > (HALBY)FilkE s
JERERES 45 FERGE o R EEE Se B AR B 2 2P T Bl
=

29. FERHE B RHE R - IS ERE B EE

30. EAKRTIES RAERZR 82%

31 MEBIPITHRGE o R — T HERHA =&
AR - R EREEA T LRERE
TH]
PITHG R BB G
WA T
ERHE 2 —fiR R RE S abic=1:1:1

32%&%ﬁ%¢##%%m@z& AiyRiE ks
'?/

33. SERE] 2 R S 2 TH K A S 45

34, [E SRR D R I F ]

35. 5 — AE YIS B BB R K B > V) >
B HNE e HES

37. IE/NBIEATE R /S IE = A - & Hyt 3 —E
I » 1E/8 I S AaimEEEl L o IE/SEERG
FERPKRE

38. HLOHRLUHSERR 2R .2

40. S E MRS I —F H AR 2w ERn 2Bl
g/m?

R

ARG YRS HERT R - HLA

18



